ITEREAA QR UV

[RAR#HX] SMIE20 9 £H34E3/1 A BE)
T B X A A A 1t T
5 3 it

WLDF1TH 140 154 294 143
lnF2TH 233 280 513 234
W W1TH 87 124 211 117
W IWW2TH 509 497 1,006 456
st ET1TH 262 298 560 253
st BT2TH 195 183 378 171
MEET1TH 154 157 311 152
HEET2TH 249 256 505 229
MEET3TH 310 322 632 261
fh =1TH 161 206 367 175
o R2TH 157 198 355 188
FEET1TH 222 279 501 265
FEEI2TH 208 229 437 178
£ E1TH 348 398 746 375
£ X2TH 165 185 350 180
£ IX3TH 323 306 629 258
£ X4TH 218 215 433 205
A HE1TH 635 640 1,275 584
A HET2TH 316 346 662 272
X IL1TH 341 310 651 314
X L2TH 331 330 661 332
X IL3TH 413 430 843 410
£ [FE1TH 644 743 1,387 623
£ [F2TH 800 765 1,565 671
%X JE3TH 852 885 1,737 740
% &T1TH 325 310 635 279
x &F2TH 842 827 1,669 702
% &STH 997 963 1,960 861
x F4TH 161 174 335 149
% &S5TH 65 63 128 39
= N H 550 532 1,082 465
EXR1TH 722 656 1,378 629
ELXTR2TH 157 161 318 120
= E1TH 532 596 1,128 503
= H2TH 278 250 528 296
m & E 1,555 1,523 3,078 1,222
N Hi 14,457 14,791 29,248 13,051




[£HEMX]

T B X Al A T
F B E 1,704 1,690 3,394 1,466
T = 93 99 192 70
pid H 102 101 203 66

7] 28 25 53 20
5 R 175 173 348 137
F % R 106 95 201 69
= ith 303 295 598 188
m 2 iR 491 490 981 348
f& =i 173 197 370 140
bp | 265 266 531 208
Z & R 169 146 315 109
N & 646 600 1,246 480
i € A 504 519 1,023 457
e A 492 468 960 368
+t B R 357 344 701 303
£} iR 220 205 425 142
i I 232 239 471 160
B =} 222 228 450 149
7R g 14 14 28 11

d X#MA 121 156 277 166
1N Hi 6,417 6,350 12,767 5,057

[FEHX]

T B X A A T
3] 602 594 1,196 455
= i) 654 715 1,369 595
8 iR 120 118 238 84
& fit] 120 117 237 74
1€ 233 229 462 156
F A 420 448 868 279
¥ ¥ H 135 160 295 101
N 5 2,284 2,381 4,665 1,744




[EF iR X ]

T & X Al A Gl
+t 75 E 428 459 887 377
T A E 654 660 1,314 601
& = 1,512 1,474 2,986 1,213
I iR 74 67 141 39

¥ B\1TH 127 147 274 114

¥ B2TH 258 274 532 2923
N it 3,053 3,081 6,134 2,567

[MEAILHX]

T B X Al A T
£ A W 557 617 1,174 449
e iR 115 115 230 74
X i 154 130 284 113
1= [R 302 285 587 230
/N it 1,128 1,147 2,275 859

[ FHX]

T B X A A G
TRIR 216 215 431 150
INIRE 80 66 146 57
SEE 535 543 1,078 409
ERL 433 405 838 306
B K 287 267 554 229
% [ 390 383 773 267
IR 49 41 90 36
FFFH 116 119 235 90

I\ B 2,106 2,039 4,145 1,537




[BFHX]

T & X Al A Gl

2T AT 304 317 621 248
BIH 393 365 758 208
gz N 169 163 332 134
L5 E 311 282 593 245
I\IE 129 158 287 128
itiE 137 143 280 96
AH 149 161 310 107
-3/8 161 128 289 105
xE 30 22 52 19

I st 1,783 1,739 3,522 1,380

[P X ]

T B X A A o
2 PR T 641 668 1,309 503
XEH 275 301 576 239

R 156 177 333 115
el 215 212 427 154

BARR 297 208 595 201
E£H 564 487 1,051 420

I =t 2,148 2,143 4,291 1,632

[ Rt X ]

T B X H A T
FEF A 233 236 469 156

AR 171 173 344 123
g i) 88 89 177 67
F1E 52 52 104 38
ANEE 56 49 105 37
RAR 63 57 120 49
AEFX 85 152 237 121
Kb 137 132 269 97
JIIA 67 75 142 66
I B 952 1,015 1,967 747




[ZBE )| HhX]
1T B X Al A Gl
2 8 i
BiER 260 259 519 212
AEI 291 288 579 252
EEF 57 55 112 46
JIIE 18 16 34 19
A 78 65 143 56
I B 704 683 1,387 585
& #
A #
7 *
35,032 35,369 70,401 29,159




